77

13
30
26,351 m
@ )
(a_b)* *

3.69 ni/ha | 0.40 m/ha 3.29 ni/ha 23,017 ni/

0.14 ni/ha 979 m/

23,996 m/
11,700ha

30 4.16 nmi/ha 4.16/30 =0.14 m/ha
(3.29*11700%35.1/58.7)+(0.14*11700*35.1/58.7)=23,996 ni
35.1 58.7
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(a- )
(a-b)*
3.69 m/ha 1.03 m/ha 2.66 m/ha 507 m/
1,000ha( 276ha)
(27.9%)
30 (5,506 m+11,012 ni)*12.7/13.8/30 =507 mi
12.7 13.8
15 2.66 m/hax 276hax 15 x 1/2= 5,506 m
16 2.66 m/hax 276hax 15 =11,012 m
15 1/2
(@ )
(a-h)* *3/4*
1.76 m/ha| 0.58 m/ha 1.18 m/ha 1,596 m/
0.14 m/ha 252 m/
1,848 m/
2,000ha
30 4.16 m/ha 4.16/30 =0.14 mi/ha
(1.18*2000%3/4*22.0/24.4)+0.14*2000%22.0/24 .4=1,848 ni
22.0 24 .4
26,351 m
10t 4,200
10 6.2 n 1.6t m3
4,279 m
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15
C(b-a)
Cx 3/4x
89,326 m/ 98,083 m/ 8,757 m/ 3,927 m/
5,207 m/ 5,717 m/ 510 m/ 352 m/
4,279 m/
11,700ha
(89,326 m/ )
(0.51)x (1497mm/ )x (11700ha)x* 10
15 (98,083 m/ )
15 (0.56)x% (1497mm/ )x (11700ha)x* 10
8,757*3/4*35.1/58.7=3,927 m
1,000ha
510*3/4*12.7/13.8=352 m
4,279 m
1,300 m
15
373 m/
- m/
15
(a- )X
3,235 m/ 2,647 m/ 352 m/
168 m/ 145 m/ 21 m/
373 m/
11,700ha
(3235 m/ )
(0.55)x 100 (181mm/h)x (11700ha)/360
15 (2647 mi/ )
(0.45)x 100 (181mm/h) x (11700ha)/360
588*35.1/58.7=352 m/

1,000ha

23*12.7/13.8=21 m/
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87

30 2,484
2,484,000/30*35.1/58.7=49,511
30
127,000/30*12.7/13.8=3,896

53,407

127

5.04
2008

63




535

18 20

18 20

18 20

57

15

77

30

30

64

30

7.0

30

50

30

ha



ha 11,700 1,000 2,000 1,000 15,700
35.1 12.7 22.0 7.2 77.0
84.9 2.5 - - 87.4
2.5 - - - 2.5
- - 77.8 - 77.8
167.7
230.0 17.5 - - 247.5
30 33.2 3.0 - - 36.2
44 4 4.0 - - 48 .4
332.1
18.0 1.4 - - 19.4
- - - 16.4 16.4
413.0 28.4 77.8 16.4 535.6
30
B/C
n
C
B/C B /= :
t=1  (1+1/) =1 (1+7)
B
C
n: 30 I: 4% /
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30

ha



3,728

766

7,700 1.48
8,003
18 22
6,031
1,669
7,700
A=B+C 11,428
B 7,700
3,728
1,813
1,915
1.48
GDP 8,003
17
17
413
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